BY -1 4T;\1-45 6y, ST
™2¢ ®_7X

@\l ED Maat \ 50 Fi.
@95 @’S N

@26 D-tor |

@44 @914 N

osy O %
Do, 8- &

D5 @w R



. . . pt. 29,
2.6 Distributive Property Seet-29.2006
ex| Find the Area of a Rectangle A = Rw I

whose length is (x + 2) and width is 3.

AKJ._:‘“Z)'3

=3(x+2)

Re |3

(x +2)
. A = x.3 = 3X
R =
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Distributive Property
The Product of 'a'and (b + ¢) :

a(b+c):ab+ac
(b+c)a=ba+ca
a(b—c):ab—ac
(b—c)a:ba—ca






Distributive Property with Negatives:

_m) _ "R () + S(%)
="3x+ |
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= TSX AT = R 112
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(1)Pg. 103: 13, 15

(2)Pg. 104: 17, 21, 25, 28, 29,
33, 37, 39, 40, 41,
45, 49, 52, 56, 65, 67
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